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Cluster: 0113 ptr; resid: 0.23; r/c: 24/71

x.range

upstream meme PSSM #1; e=310

1 6 11 161 6 11 161 6 11 161 6 11 161 6 11 16

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=540

1 3 5 7 9 111 3 5 7 9
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44790

54068

12188

12572

3061
32554

36597

41850

42426

42903

42980

43060
43309

44315

44344

45935
46792

49120

49377

49509

54197 6554
7525

9956

string −500 −400 −300 −200 −100 −1
41850−0.71
32554−0.74
49509−0.75
54068−1.10
42980−1.33
49120−1.37
43060−1.47
43309−1.76
42426−2.00
12188−2.64
54197−3.08

9956−3.11
36597−3.13

3061−3.63
7525−3.69

44790−3.72
6554−3.72

12572−3.74
45935−4.61
46792−4.97
42903−5.08
44344−5.25
49377−5.27
44315−5.67

log10(P) upstream meme1 2 log10(P.clust)=−3.02; 24 seqs; 24 uniq
c(0.5, 2.5)
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